42 AR ERIT A4 B

IEFCHESR | IEEESR | TER 4t FDtak | [REESE
501 ] 5 FOF 3 |
501 2 = =J@im 4 7
501 3 & MO 4 10
501 4 = ROE 5 2
501 5 5 TO® 1 12
501 6 5 FO=E 3 3
501 7 5 RO 5 3
501 8 5 O] 5 5
501 9 &5 =HOE 4 4
501 10 5B =0OH 3 10
501 11 5 FEHOE 2 6
501 12 5 SOk ] 3
501 13 8 MO 4 14
501 14 2 il O= 5 23
501 15 1L ROFE 3 14
501 16 x HOE 1 15
501 17 27 RO 2 13
501 18 2 HOL 5 24
501 19 g2y ER O 1 20
501 20 L HOH 3 21
501 21 L TROR 4 21
501 22 2 BROU 2 16
501 23 gy =OM 5 18
501 24 7 Z0OiE 4 15
501 25 '8 FEOZ 5 15
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11422418 F AR R4 BE

IEHEER | IE=CEESR | 1R P4 FRDTaR | [REESR
502 ] 5 HOZE 2 5
502 2 5 ZOE 4 5
502 3 5 HO= 3 6
502 4 &= RO ] 5
502 5 5 fOi% 2 10
502 6 &5 RO 1 2
502 7 5 BROJR 5 10
502 8 5 HEOTE ] 10
502 9 5 =OMR 2 12
502 10 & BO=E 3 8
502 11 5 FOFE 5 4
502 12 5 EO# 5 11
502 13 8 O 5 22
502 14 L FOH 5 16
502 15 2L FO# ] 19
502 16 iz RO 4 13
502 17 '3 RO 4 16
502 18 g8 MO=E 4 19
502 19 L sFOlE 2 23
502 20 L R Oy 3 24
502 21 o8 OB 2 22
502 22 2L ROZE 5 25
502 23 % FEOH 1 25
502 24 L RO2 4 20
502 25 '8 @ OUr 2 18
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| 142 F AF AR AR DT 4 B8

IEEPEER | TE=XEESR | MR %44 FEgk | [REEFE
503 1 5 FO% ] 11
503 2 5 O 1 |
503 3 5 Z0OFL ] 4
503 4 &2 HOH 3 7
503 5 i MO 5 7
503 6 B HOE 2 9
503 7 B HROR 5 9
503 8 5 RO/ 4 3
503 9 5 RO 2 8
503 10 Y HEOE 1 13
503 11 52 O 2 1
503 12 L T LO, 3 13
503 13 2z FO% ] 17
503 14 2L FOIR 3 19
503 15 £y 0% 5 21
503 16 gy WO ] 24
503 17 gy HRO4E 2 26
503 18 2L RO 2 15
503 19 4 HO= 5 13
503 20 7 =HO#H 5 26
503 21 'y BOR 3 17
503 22 27 EO 1 16
503 23 2 ZIOK 4 18
503 24 2 BOE 4 17
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1 14 B84 & F AR 4R DT 4 B

IECHESR | IEZEESR | MER = FYIsk | JREESE
504 ] B HOF 4 1
504 2 g3 RO 3 5
504 3 5 Z0OEE 1 6
504 4 £ MOZE 2 3
504 5 - #kOrg 3 4
504 6 G RO 4 11
504 7 B ROE 5 12
504 8 & O ] 8
504 9 5 HOE 2 7
504 10 5 = OB 3 11
504 11 = =OR 4 y)
504 12 4L BEOZ 2 19
504 13 2L ROE ] 23
504 14 % BEOE 3 18
504 15 g MOEE 4 22
504 16 £y HOA 2 25
504 17 B8 PhOZ 2 14
504 18 2L HOE 1 )
504 19 E°8 RO$E ] 21
504 20 oA O 5 14
504 21 2 R OBR 3 23
504 ) % = OH 3 2
504 23 oy =O% E 19
504 24 27 = O 5 20
504 25 2L FEOYE 4 24
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IERTEER | IEEESR | MR 4 FEYTaR | [REER
505 ] =B MOE 5 6
505 2 5 B 5 1
505 3 53 MO 4 8
505 4 5 O 3 12
505 5 s HOE 2 4
505 6 s MO 2 11
505 7 B RO ] 7
505 8 5 O 4 12
505 9 5 EOF 3 9
505 10 5 EOHA ] 9
505 11 5 EOF 3 2
505 12 2 O 1 14
505 13 & A O%F 3 16
505 14 2% SO 4 25
505 15 2% RO 4 23
505 16 2L HOLT | 26
505 17 2L RO 2 21
505 18 518 HOJ 2 20
505 19 g8 HO%E ] 18
505 20 8 =205 4 27
505 21 8 2Ot 4 26
505 22 2 ROE 2 24
505 23 g ¥ O 5 7
505 24 gy EOF 3 20
505 25 8 g3 O 2 17
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